147.

3ni.

302.

303,

304,

306.

307,

308.

308,

3140,
311,

1-L25

1--E16

1-1.23

N.S.
1.153
8.939
8.500

0.213

1.068
8.800
0.208
1.079
1.062

1.062
8.900

PIN, M6X16 STL PL (ENG FRT
BOLT, HFH MBX 1.25X35 10.9
PZOR (ENG FRT GVR) (0.206) ...
SEAL, CR/SHF FRT OIL (TMG GR
CVR) (ALSO PART OF 313)
(61.42/61.32 MM O.D) ..........
PUMP, WAT (INCL 312)
(AC—-DELCO #251-619)
BOLT, HFH MBX1.25X35 10.9
PZOR (W/PMP) {0.206)
BOLT, ENG FRT CVR
(M10X1.5X69.5)
BOLT, W/PMP (HFH, M6X1X24,
14 THD, 13.6 OD, 9.8, PE)
BOLT, W/PMP PUL (M8X1.25X16
17.6.9.8PZOR) (8.900)
PULLEY, W/PMP
BOLY, HEX FLG HD (M8X1,25X70
10.9 17.6 OD 6174M (ENG FAT

.........................

93 -85

9395

93-05
8305
93-85
93-95
93--95

9395
$3-985

MFO00-0561 05/03/94

..............

......................

MF00~051
1993~ 1995 F ENGINE ASM-3.4L. V6 PART 3 FRONT COVER & COOLING (1.32/3.4S)
BLOCK, ENG (SERVICED BY
GOODWRENCH ENGINE)
CUTLET, WAT (AC--DELCO

10151656
11503504
24572579

10243247

12482682
24572578
10182369
10182370
11516186

10168377
11508516


Pete
Oval


J12. 1-L23

313, 1-Ei5
314, 1-E16
a1s,

1.079

0.208
0.207
8.800

GASKET, W/PMP (ALSO PART 93-95
OFB05) 4 ey o wrawy sosn v v v vy 4

COVER, ENG FRT (INCL 304) ... 93-85
GASKET, ENGFRTCVR ........ 83-95
BOLT, HFH-M8X1.25X20 (HTR 93~85

F (L32)

F (L32)
F (L32)

.......

...............

MF00~051

1

10087563

10151670
10189276
11516186

316, 1-N27

8.846

H Bl {n] e
L e

PIPE HTRINL ... oo0vinenns 93-95

10185204

317, 1-N2Z8
318, 1-L25

Y, 1-L25

320,

321. 1-N14

1-L24

517,  1-M25

SERVICE KITS
1. 1-E&16

RPQ DEFINITIONS

6.866
1.246

1.252

8.900

3.682

1.150

J.285

0.289

NIPPLE, TR WAT ENG INL ....... 93-95
THERMOSTAT, ENG COOL (INCL  93~85
319) (INCLS SEAL) (AC-DELCO
H1B1=122) i

SEAL, ENG COOL THERM (O 9395
RING} (ALSO PART OF 318)

(WITH LIP) (46.80MM 0.D))

(*KIT1) (AC—DELCO #10226107)

BOLY, MBX1.25X25 9.8 (WAT 93-85
(o103 TR,
SENSOR, ENG COOL TEMP (AT~ 93~85
IN'T MANIF ONLY, INTERFACES

W/ECM, USED FOR CLUSTERS

W/OIL GAGE & LIGHT

COMBINATION, GOES

W/12101899 CONN) (AT INT

MANIFOLD ONLY) (2-- WAY M)
{AC—DELCO #213-310) .......
SENSOR, ENG COOL TEMP (AT 93-95
INT MANIF, INTERFACES

W/ECM, USED FOR GLUSTERS

W/OIL GAGE & LIGHT COMB,

GOES W/12101899 CONN) (AT

INT MANIFOLD ONLY) (2-WAY

M) (3.682) (AC~DELCO

#213-310) ..o
MANIFOLD, LWRINT ........... 93-95

GASKET KIT, CYL HD {INCt 324} 93~95
(KIT ALSQ INCLUDES GASKETS

AND OR SEALS FOR CYLINDER

HEAD, INTAKE MANIFOLDS,

EGR VALVE PIPE VALVE

ROCKEFR ARM COVER AND

INTAKE VALVE STEM Q1L ......

L32 — ENGINE,3.41,V6,(3.45),SF,OHV

F (L32)

F(L32)

...............

...............

...............

88591732

24577298

10226107

11508476

12146312

12146212

10137051

12820757


Pete
Rectangle


